b.) (10 pts.) The law of physics that explains the voltage difference is named after
(circle one) '

.. Coulomb Ampere axwell Gauss - Biot-Savart

3.) A proton is moving with speed equal tp 0.8 times the speed of light.

a.) (10 pts.),Defermine its total energy in MeV (1 MeV = 10%V). ,
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b.) (10 pts.) Determine its kinetic energy jn MeV.

K=E-md= 154b-922 = 627 MeV
it

c.) (15 pts.) A neutron is slightly more massive that a proton, by the amount
1.95x1073° kg. Because of this the neutron|can decay into a proton plus other forms
of energy. Determine how much other energy tan be released.
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4.) An atom has four bound states with exjergies equal to -6.8 eV, -4.3 eV, -2.5 eV and
-1.4 eV. It may be helpful to make an energy-ladder diagram for the following.
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. atom? he
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b.) (15 pts.) If the atom is in its second pxcited state above the ground state, it will
- decay quickly by emitting photons. DeterminI all the possible photon wave lengths.
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